1 2 3 I 4 5 I 6 I 7 I 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A |[NEW RELEASE LJH 08/13/05' N LJC 08/13/05’
| ITEM PART NAME Q'ty NOTES B | ms K YCH 09/13/07 a2 LJC 09/13/07
e e E— 1 PLASTIC HOOD 2 | SEE P/N C | Hempsiml bz s R ~F YCH 07/18/08’ N LJC 07/18/08’
L+ ] 0 , [21] tone BoLT 2 | #4-40 D [ &ms o YCH 05,/20/10° ~ LIC 05/20/10°
- ‘ - 2.2| SHORT BOLT 2 #4-40 E | SM3s«120084] JyM3%10 YCH 08/30/10’ o LJC 08/30/10’
I 3 NUT 2 M3 F |ADD P/N CODE LJIC 12/24/13 Y
4 LONG SCREW 2 M3
NOTES:
24.99 S SMALL WASHER 2 1. Hardwares are all Nickel plated.
6 SHORT SCREW 2 M3 2. PART NUMBER CODE:
7.1| METAL WASHER 2 M3 DS1045 - 09 X X X X X — XL
Hood Materials ®
30.8 717.2| PLASTIC—1 WASHER 2 A: ABS
12.0 7.3| PLASTIC-2 WASHER 2 B: Similar ABS
1 Washer type
1: Metal
‘ 2: Plastic—1(Lock type)
] ‘ ] 3: Plastic—2(Screw type)
| | | Bolt type
L: Long
‘ LU S: Short
I Packing type
1: Mix packing
‘ © ) 2: Separation packing
| g =B Q: Full packing
‘ Cover Material
|— ‘ P: Plastic(ABS)
- |- 3 - I Cover Color
‘ A: Gray
| B: Black
V: lvory
t\lil;// Position
SHORT SCREW 2 09: 9pin
‘ © 13.7
_ _ _ o 1.0
§ UNC#4—40 M3 3
12.0
7.0 S 52> 242 =
| % | - o \Q@ | 5.40
| - |
C e Short BOLT NUT  t=2.3mm
[~ e M3 11.8 4 S
d N 4.80
| T } T " O 10.0 /_ é’)g
. | J | L |} | } ; ; ﬁ( © | . ;
f [ L o)
\ S : \ N } 2] L 2
2 Eﬁ S M2s | | |
4—40 UNC 8 @9 © 7.5 i
ol & Metal Plastic—1 Plastic—2 LONG SCREW
s s - -5 - = - - - - - — - - SMALL WASHER
@ 1= _ - a1 - GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @ —G» TITLE | D-SUB Plastic Hood 180°
14.Q] 9 Positions
6.6 2 7 X.  +0.60 x. 5 [UNTS mm
13.5 S X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
205 XX £0.25 XX £2 —
” DRAWING TYPE [COSTOMER @ = j:éﬂﬂ EE % ﬁ‘ I}E Z\ a
Long BOLT SCALE 11 _ISHEET |1 OF 1 °© CONNFLY ELECTRONIC CO., LTD
DRAWING NO. |C—DS1045—09XXXXX—X—F| SOANFLY "
1 2 I 3 4 | 5 6 I 7 I 8




